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(Question No : 21 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]) =]

The goal of knowledge analysis is to analyze and structure the gained during the knowledge acquisition phase

\Answer | Please select your correct option )

knowledge

conclusions
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‘Question No : 22 of 52 Marks: 1 (Budgeted Time 1 Min) =] ;I

A classical setis a container, which wholly includes or whally excludes any given element

\Answer | Please select your correct option )

True
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Question No : 23 of 52 Marks: 1 (Budgeted Time 1 Min) (=] &l

It was who came up with the 'Law of the Excluded Middle'.

Answer ( Please select your correct option )

Aristotle

Einstein

None of the given
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Question No : 24 of 52 Marks: 1 (Budgeted Time 1 Min)  [=)

Reasoning in fuzzy logic is just a matter of generalizing the familiar

/Answer { Please select your correct option )

Boolean

Complex

Coagnitive

Supervised
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Question No : 25 of 52 Marks: 1 (Budgeted Time 1 Min) (=] &l

If there are multiple parts to the antecedent, apply fuzzy logic and resolve the antecedent to a single number between 0 and 1.

Answer ( Please select your correct option )

Operators

Conditions

None of the given

Start Time: 10.09 PM

all 2012 (FinalTerm; Windows Internet Explorer

)% [] hitpiiflocathost/i.

Fle Edt View Favorites Tools Help

L Favorites |55 25 - &

5:' .| @ Exarination | @ VU Examination System (... X I W v B+ v Page~ Sefety -+ Tods~ (@

Question No : 26 of 52 Marks: 1 (Budgeted Time 1 Min)  [=)

QOutputs of learning are determined by the

/Answer { Please select your correct option )

Application

Validation

Training

None of the given
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Question No : 27 of 52 Marks: 1 (Budgeted Time 1 Min) (=] &l

Inductive learning is based on the knowledge that if something happens a lot it is likely to be generally

Answer ( Please select your correct option )

True

Ambiguous

None of the given
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Question No : 28 of 52 Marks: 1 (Budgeted Time 1 Min)  [=)

learning works on existing facts and knowledge and deduces new knowledge from the old.

/Answer { Please select your correct option )

Deductive

Inductive

Application

None of the given
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Question No : 29 of 52 Marks: 1 (Budgeted Time 1 Min) (=] &l

A concept is the representation of the with respect to the given attributes

Answer ( Please select your correct option )

Solution

Problem

Knowledge

None of the given

Start Time: 10.09 PM

all 2012 (FinalTerm; Windows Internet Explorer

)% [] hitpiiflocathost/i.

Fle Edt View Favorites Tools Help

L Favorites |55 25 - &

5:' .| @ Exarination | @ VU Examination System (... X I W v B+ v Page~ Sefety -+ Tods~ (@

Question No : 30 of 52 Marks: 1 (Budgeted Time 1 Min)  [=)

Hypothesis space uses the of the attributes

/Answer { Please select your correct option )

Conjunctions (AND)

Disjunctions (OR)

Negation (NOR)

None of the given
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Question No : 31 of 52 Marks: 1 (Budgeted Time 1 Min) (=] &l

In all calculations involving Entropy we define

Answer ( Please select your correct option )

Olog0,0

Olog 10,1

Olog 0,1

Tlog 1,1
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Question No : 32 of 52 Marks: 1 (Budgeted Time 1 Min)  [=)

Measure of the effectiveness of an attribute in classifying the training data is called

/Answer { Please select your correct option )

Information Gain

Measure Gain

Information Goal

None of the given
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The soma and the enclosed nucleus in neuran play a significant rale in the processing of incoming and outgoing data.

Answer | Please select your correct option )

True
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A single layer perceptron can not perform pattern classification on linearly separable patterns

Answer | Please select your correct option )

True
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A single layer perceptron can not perform pattern classification on linearly separable patterns

Answer | Please select your correct option )

True
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In Planning phase, each state is represented in predicate logic.

Answer | Please select your correct option )

True
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Question No : 37 of 52 Marks: 1 (Budgeted Time 1 Min) (=] &l

Actionis a used to change states.

Answer ( Please select your correct option )

Predicate

Function

Operator

None of the given
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Question No : 38 of 52 Marks: 1 (Budgeted Time 1 Min)  [=)

is a subfield of

/Answer { Please select your correct option )

Computer Vision, Artificial Intelligence

Artificial Intelligence, Computer Vision

Artificial Inteligence, Neural Nets

None of the given
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Question No : 39 of 52 Marks: 1 (Budgeted Time 1 Min) (=] &l

deals with procedures that extract useful information from static pictures and sequence of images

Answer ( Please select your correct option )

Computer Vision

Neural Networks

Predicate logic

None of the given
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Question No : 40 of 52 Marks: 1 (Budgeted Time 1 Min)  [=)

Which of the combinations is possible to solve real world problems?

/Answer { Please select your correct option )

Genetic fuzzy

Neuro -Fuzzy systems

Neuro-Genetic systems

All of the given
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Question No : 41 of 52 Marks: 2 (Budgeted Time 4 Min) (=) &l

Consider a situation in which we want to find out a relationship between input and given set of data by using genetic algorithm. Which application field of Genetic Algorithm do you think belongs with this
situation?

Answer ( Please click here to Add Answer )
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Question No : 42 of 52 Marks: 2 (Budgeted Time 4 Min)  |=)

How can you elaborate the term "inductive learning"?

Answer { Please click here to Add Answer )
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Question No : 43 of 52 Marks: 2 (Budgeted Time 4 Min) (=) &l

A person wants to know about the Find-S algorithm and you are considered as Find-S algorithm specialist. How can you elaborate the Find-S algorithm in a precise manner?

Answer ( Please click here to Add Answer )

mE é@_| 7 E@| o) (4 ﬁ{@@ A A |@ [wo%l][
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Question No : 44 of 52 Marks: 2 (Budgeted Time 4 Min)  |=)

Give reason that why clustering algorithms are categorized as unsupervised learning?

Answer { Please click here to Add Answer )
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Question No : 45 of 52 Marks: 3 (Budgeted Time 6 Min) (=) &l

Out of different design phases of Artificial Neural Network (ANN) which design phase is most important in order to start learning in ANN? Give reason to support your answer.

Answer ( Please click here to Add Answer )

mE é@_| 7 E@| o) (4 ﬁ{@@ A A |@ [wo%l][
Jormal A farial |

q

Start Time: 10:09 PM

all 2012 (FinalTerm; Windows Internet Explorer

)% [] hitpiiflocathost/i.

Fle Edt View Favorites Tools Help

L Favorites |55 25 - &

5:' .| @ Exarination | @ VU Examination System (... X I W v B+ v Page~ Sefety -+ Tods~ (@

Question No : 46 of 52 Marks: 3 (Budgeted Time 6 Min)  |=)

Out of two 'Adversarial Search' strategy and 'Genetic Algorithm' which one is best for a situation in which requirements are not clearly defined and the problem is ill-structured, that is, we don’t exactly
know the initial state, goal state and operators etc?

Answer { Please click here to Add Answer )
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Question No : 47 of 52

Marks: 3 (Budgeted Time 6 Min) (=) &l

Write down an example of a vague or fuzzy statement from everyday life and also give reason that why it is vague?

Answer ( Please click here to Add Answer )
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Question No : 48 of 52

Marks: 3 (Budgeted Time 6 Min)  |=)

A learning problem is primarily composed of which three things?

Answer { Please click here to Add Answer )
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Question No : 49 of 52 Marks: 5 (Budgeted Time 10 Min) (=] Bl

How can you elaborate the "explanation facility" in expert system? Elaborate it with an example.

Answer ( Please click here to Add Answer )
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Question No : 50 of 52 Marks: 5 (Budgeted Time 10 Min) (=]

A person wants to know about the Artificial Neural Networks. How can you elaborate the design phases of Artificial Neural Networks?

Answer { Please click here to Add Answer )

D@ SR ew| o o [#8 5 6 & 8 [E o]
. = =e 2|

4

Start Time: 10.:09 PM

119:00

Time Left

s

For Solved Visit VU Answer



https://vustudents.pk/
https://vustudents.pk/

For Solved Visit VU Answer

U Examination System (CLIENT) YUTES all 2012 (FinalTerm windows Internet Explorer

—
@_ )= [e] hitpiiflocahost

Fle Edt View Favorites Tools Help

Ji¢ Favories | < @] Sugoeste ~ @] Web Sice Gallery

3:' v| (@ Examination | @ VU Examination System (... X I P v B - L0 o v Page~ Sefety - Took - @

Question No : 51 of 52 Marks: 5 (Budgeted Time 10 Min) (=] Bl

What are the three characteristics that any learning agent or algorithm should have? Give their details also

Answer ( Please click here to Add Answer )
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Question No : 52 of 52 Marks: 5 (Budgeted Time 10 Min) (=]

“Planning predicates are the predicates that define states whereas condition is a predicate used to change states”. Do you agree with the statement or not? Give reason to support your answer.

Answer { Please click here to Add Answer )
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